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Tekst 8  Riders in the storm 
 

1p 35 What becomes clear from paragraph 1?  
A A cycling contest had to be postponed due to extreme weather 

conditions. 
B Cyclists trained in extreme weather conditions to become fit for an 

upcoming contest. 
C Extreme weather conditions were a reason to arrange a cycling 

contest. 
 

1p 36 Kies bij    36    in alinea 2 het juiste antwoord uit de gegeven 
mogelijkheden.  
A Consequently 
B Instead 
C Therefore 
D Ultimately 
 

1p 37 What is ‘madness’, according to paragraph 3? 
A that many Dutch love cycling in extreme weather conditions 
B that the bike lane was closed in response to the weather forecast 
C the great number of spectators that turned up for a cycling event 
D the limited number of cyclists that had a possibility to compete 
E the popularity of cycling as a means of showing how fit you are 
 

2p 38 Geef van elk van de volgende beweringen aan of deze juist of onjuist is 
volgens alinea 5 en/of 6. 
Omcirkel ‘juist’ of ‘onjuist’ achter elk nummer in de uitwerkbijlage. 
1 De deelnemers zaten zoveel mogelijk voorovergebogen op de fiets. 
2 Veel van de fietspakken waren van ongeschikt materiaal gemaakt.  
3 De deelnemers hadden moeite om recht vooruit te fietsen.  
4 Veel deelnemers deden vooral mee aan de race voor de ervaring. 
 

1p 39 ‘It was simply about completing the event.’ (alinea 6) 
 In welke eerdere alinea wordt duidelijk dat dit niet iedereen gelukt is?  
Noteer het nummer van deze alinea. 
 
 
 


